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Arithmetic or no? How do you know?
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Arithmetic or no? How do you know?
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Create the explicit and the recursive formulas for the following scenario.
4) Mrs. Forrester has 45 gray hairs before school even starts. Each day
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Module 1.1 Arithmetic Sequences Notes
TEES==="" Take 10 minutes

Growing Dots and see wha
A Develop Understanding Task ean °°mplemm,‘. Ad&{,m
— 5 7, P '

o
° ... . .
oo °°
.
Atthe Atone minute A(lwo minutes %

beginning

1. Describe the pattern that you see in the sequence of figures above.

¢ ot oeny Pinle o #d [

2. Assuming the pattern continues in the same way, how many dots are there at 3 minutes? | > i

(D dsts > IR 53, 1 g%;‘m




image2.png
YT o+ | /?;,0»
o T i

[ ———————

st Cy ol G Aug=> Y5t seem
e
=i+dln) 0> 1o s
g S 0 15 e

5+4-D
;wm/ﬁ: ey

ming [Hdoks

o sl [ i
HER] ama

e diflonte
Hise_upt




image3.png
Hplior
Py oK
RN

On=6, +d(n-)

% COrs\re,

=
el +ha | depm
fpmals. a Sepueq
A,= 1% Jegm
Jop comwen diflegenc
e ord okE agan
1)630\ 13\F. ..
nad grenious 12 gev
VSE
O =l T

(urvent  oraons




image4.png
) 3x13-1% >;;.<z- =) >¢)

AT =12 s 3OS
(=12 13=12 22715

9 y=l5 (. ?;)H 20X, ?

WS s we

9) (2|3 (4|6 /(01%
@6}@@@15)@0}@5@)@
W@é@owdmbm\’ﬁ
) 3
3

w ?E:L?s home

235 e




image5.png
[Module 1.2 Arithmetic Sequences Notes

Scott’s Workout

A Solidify Understanding Task
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push-ups he completes each day n the bar graph
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